

Oscillation of Third Order Sub linear Neutral Delay Difference Equations

¹A. George Maria Selvam, ¹M.Saranya

¹ Associate Professor

¹Department of Mathematics,

¹Sacred Heart College (Autonomous), Tirupattur - 635 601, Vellore Dist., Tamil Nadu, S.India.

Abstract : This paper discusses oscillatory behavior of the third order difference equations with sub linear neutral term.

IndexTerms –oscillation, third order, sub linear, difference equation.

I. INTRODUCTION

Recent decade witnessed an increasing interest in the study of oscillation of third-order neutral delay differential and difference equations[1, 2, 3]. Difference equations have found useful applications in population dynamics, bifurcation analysis, circuit theory, dynamic behavior of delayed network systems[7]. Oscillation of solutions of difference equations is one of the important qualitative properties[4, 5, 6]. In this paper, we consider the following third order neutral difference equations of the form

$$\Delta[a(n)\Delta[b(n)\Delta z(n)]] + q(n)x(n - \delta) = 0, n \geq n_0 \quad (1)$$

Here $z(n) = [x(n) + p(n)x^\alpha(n - \tau)]$. Assume that the following conditions hold;

(C_1) $0 < \alpha \leq 1$ is the ratio of odd positive integers;

(C_2) $a(n), b(n), p(n), q(n)$ are all positive sequences;

(C_3) $\tau(n), \delta(n)$ are all positive such that $\tau(n) \geq n; \delta(n) \geq n$;

(C_4) $\lim_{n \rightarrow \infty} \tau(n) = \lim_{n \rightarrow \infty} \delta(n) = \infty$.

Also we assume

$$(A) \sum_{n=n_0}^{\infty} \frac{1}{a(n)} = \infty; \sum_{n=n_0}^{\infty} \frac{1}{b(n)} = \infty.$$

$$(B) \sum_{n=n_0}^{\infty} \frac{1}{a(n)} < \infty; \sum_{n=n_0}^{\infty} \frac{1}{b(n)} = \infty.$$

A non-trivial solution $x(n)$ is said to be oscillatory if it is neither eventually positive or eventually negative; otherwise, it is non oscillatory. Equation (1) is said to be oscillatory if all its solutions are oscillatory.

II. OSCILLATION RESULTS

Our objective in this paper is to present some sufficient conditions for the oscillation of solutions of equation (1).

Theorem 2.1. Assume (C_1) – (C_4) and (B) holds, $0 \leq p(n) \leq p_1 \leq 1$. If there exists a positive function ϕ , such that for all sufficiently large $n_3 > n_2 > n_1 \geq n_0$, we have

$$\lim_{n \rightarrow \infty} \sup \sum_{m=n_3}^{n-1} \left[q(m)\phi(m)p_*(m - \delta) \frac{\sum_{j=n_2}^{m-\delta-1} \frac{1}{b(j)} \sum_{i=n_2}^{j-1} \frac{1}{a(i)}}{\sum_{i=n_1}^{m-1} \frac{1}{a(i)}} - \frac{a(m)\Delta^2\phi(m)}{4\phi(m)} \right] = \infty \quad (2)$$

Where $p_*(n) = 1 - \frac{p(n)}{M^{1-\alpha}}$, hold for all constants $M > 0$, then any solution $x(n)$ of (1) is oscillatory.

Proof. Suppose $x(n)$ is positive solution of (1). By condition (A), there exists a possible case such that $z(n) > 0, \Delta z(n) > 0, \Delta[b(n)\Delta z(n)] > 0, \Delta[a(n)\Delta[b(n)\Delta z(n)]] < 0$. Assume that $z(n)$ satisfying the case, there exists

$n \geq n_1$ such that $z(n) > 0; z(n - \delta) > 0 \Delta z(n) > 0$ then $z(n)$ considered monotonically increasing, there exists a constant $M > 0$, such that $z(n) \geq M$. Now from the definition of $z(n)$ we have

$$x(n) = z(n) - p(n)x^\alpha(n - \tau) \geq z(n) - p(n)z^\alpha(n - \tau) \geq \left[1 - p(n)\frac{1}{M^{1-\alpha}}\right]z(n) \geq p_*(n)z(n) \tag{3}$$

Where $p_*(n) = \left[1 - p(n)\frac{1}{M^{1-\alpha}}\right]$. Since,

$$\begin{aligned} b(n)\Delta z(n) &\geq \sum_{m=n_1}^{n-1} \frac{a(m)\Delta[b(m)\Delta z(m)]}{a(m)} \\ \frac{b(n)\Delta z(n)}{\sum_{m=n_1}^{n-1} \frac{1}{a(m)}} &\geq a(n)\Delta[b(n)\Delta z(n)] \end{aligned} \tag{4}$$

We have

$$\Delta \left[\frac{b(n)\Delta z(n)}{\sum_{m=n_1}^{n-1} \frac{1}{a(m)}} \right] \leq 0 \tag{5}$$

Now, $\sum_{m=n_2}^{n-1} \Delta z(m) = z(n) - z(n_2)$ yields

$$\begin{aligned} z(n) &= z(n_2) + \sum_{m=n_2}^{n-1} \Delta z(m) = z(n_2) + \sum_{m=n_2}^{n-1} \frac{b(m)\Delta z(m) \sum_{i=n_1}^{m-1} \frac{1}{a(i)}}{b(m) \sum_{i=n_1}^{m-1} \frac{1}{a(i)}} \\ &\geq \frac{b(n)\Delta z(n)}{\sum_{i=n_1}^{n-1} \frac{1}{a(i)}} \sum_{m=n_2}^{n-1} \left[\frac{1}{b(m)} \sum_{i=n_1}^{m-1} \frac{1}{a(i)} \right] \\ \frac{z(n)}{b(n)\Delta z(n)} &\geq \frac{\sum_{m=n_2}^{n-1} \left[\frac{1}{b(m)} \sum_{i=n_1}^{m-1} \frac{1}{a(i)} \right]}{\sum_{i=n_1}^{n-1} \frac{1}{a(i)}} \end{aligned} \tag{6}$$

Let us define the Reccati transformation,

$$w(n) = \phi(n) \frac{a(n)\Delta[b(n)\Delta z(n)]}{b(n)\Delta z(n)}, n \geq n_1. \tag{7}$$

Notice that $w(n) > 0$ for $n \geq n_2 \geq n_1$. Now

$$\begin{aligned} \Delta(w(n)) &= \phi(n) \frac{\Delta[a(n)\Delta[b(n)\Delta z(n)]]}{b(n)\Delta z(n)} + \Delta\phi(n) \frac{a(n+1)\Delta[b(n+1)\Delta z(n+1)]}{b(n+1)\Delta z(n+1)} \\ &\quad - \phi(n) \frac{a(n+1)\Delta[b(n+1)\Delta z(n+1)]\{b(n+1)\Delta z(n+1) - b(n)\Delta z(n)\}}{b(n)\Delta z(n)b(n+1)\Delta z(n+1)} \end{aligned}$$

It follows from (1) and (7)

$$\Delta(w(n)) = \frac{-q(n)\phi(n)x(n-\delta)}{b(n)\Delta z(n)} + \Delta\phi(n) \frac{w(n+1)}{\phi(n+1)} - \frac{\phi(n)}{a(n)} \frac{w(n+1)}{\phi(n+1)} \frac{a(n)\Delta[b(n)\Delta z(n)]}{b(n)\Delta z(n)}$$

$a(n)\Delta[b(n)\Delta z(n)]$ is non increasing and $[b(n)\Delta z(n)]$ is increasing. From (3)

$$\begin{aligned} \Delta(w(n)) &\leq \Delta\phi(n) \frac{w(n+1)}{\phi(n+1)} - \frac{\phi(n) w^2(n+1)}{a(n) \phi^2(n+1)} - q(n)\phi(n) \frac{x(n-\delta)}{b(n)\Delta z(n)} \\ &\leq \left[\frac{\phi(n) w^2(n+1)}{a(n) \phi^2(n+1)} - \Delta\phi(n) \frac{w(n+1)}{\phi(n+1)} \right] - q(n)\phi(n) p_*(n-\delta) \frac{z(n-\delta)}{b(n)\Delta z(n)} \\ &\leq \left[\frac{\phi(n) w^2(n+1)}{a(n) \phi^2(n+1)} - \Delta\phi(n) \frac{w(n+1)}{\phi(n+1)} \right] - q(n)\phi(n) p_*(n-\delta) \frac{\sum_{m=n_2}^{n-\delta-1} \left[\frac{1}{b(m)} \sum_{i=n_1}^{m-1} \frac{1}{a(i)} \right]}{\sum_{i=n_1}^{n-1} \frac{1}{a(i)}} \\ &\leq \left[\frac{\sqrt{\phi(n)} w(n+1)}{\sqrt{a(n)} \phi(n+1)} - \frac{\Delta\phi(n)}{2} \frac{\sqrt{a(n)}}{\sqrt{\phi(n)}} \right]^2 + \frac{\Delta^2\phi(n)a(n)}{4\phi(n)} - q(n)\phi(n) p_*(n-\delta) \frac{\sum_{m=n_2}^{n-\delta-1} \left[\frac{1}{b(m)} \sum_{i=n_1}^{m-1} \frac{1}{a(i)} \right]}{\sum_{i=n_1}^{n-1} \frac{1}{a(i)}} \end{aligned}$$

Which implies,

$$\Delta(w(n)) \leq -q(n)\phi(n) p_*(n-\delta) \frac{\sum_{m=n_2}^{n-\delta-1} \left[\frac{1}{b(m)} \sum_{i=n_1}^{m-1} \frac{1}{a(i)} \right]}{\sum_{i=n_1}^{n-1} \frac{1}{a(i)}} + \frac{\Delta^2\phi(n)a(n)}{4\phi(n)}$$

Summing from $n_3 (> n_2)$ to $n-1$, we get

$$\begin{aligned} w(n) - w(n_3) &\leq \sum_{m=n_3}^{n-1} \left[\frac{\Delta^2\phi(m)a(m)}{4\phi(m)} - q(m)\phi(m) p_*(m-\delta) \frac{\sum_{j=n_2}^{m-\delta-1} \left[\frac{1}{b(j)} \sum_{i=n_1}^{j-1} \frac{1}{a(i)} \right]}{\sum_{i=n_1}^{m-1} \frac{1}{a(i)}} \right] \\ \sum_{m=n_3}^{n-1} \left[q(m)\phi(m) p_*(m-\delta) \frac{\sum_{j=n_2}^{m-\delta-1} \left[\frac{1}{b(j)} \sum_{i=n_1}^{j-1} \frac{1}{a(i)} \right]}{\sum_{i=n_1}^{m-1} \frac{1}{a(i)}} - \frac{\Delta^2\phi(m)a(m)}{4\phi(m)} \right] &\leq w(n_3) \end{aligned}$$

Letting $n \rightarrow \infty$

$$\limsup_{n \rightarrow \infty} \sum_{m=n_3}^{n-1} \left[q(m)\phi(m) p_*(m-\delta) \frac{\sum_{j=n_2}^{m-\delta-1} \left[\frac{1}{b(j)} \sum_{i=n_1}^{j-1} \frac{1}{a(i)} \right]}{\sum_{i=n_1}^{m-1} \frac{1}{a(i)}} - \frac{\Delta^2\phi(m)a(m)}{4\phi(m)} \right] \leq w(n_3)$$

Which contradicts (2). Hence complete the proof.

Theorem 2.2. Assume $(C_1) - (C_4)$ and (B) holds and

$$\sum_{j=n_0}^{\infty} \frac{1}{b(j)} \sum_{i=j}^{\infty} \frac{1}{a(i)} \sum_{m=i}^{\infty} q(m) = \infty \tag{8}$$

Then any solution $x(n)$ of (1) is either oscillatory or $\lim_{n \rightarrow \infty} x(n) = 0$.

Proof. Suppose $x(n)$ is positive solution of (1). By condition (A), there exists a possible case such that $z(n) > 0, \Delta z(n) < 0, \Delta[b(n)\Delta z(n)] > 0, \Delta[a(n)\Delta[b(n)\Delta z(n)]] < 0$. Since $z(n) > 0$ and $\Delta z(n) < 0$ there exist a finite limit, $\lim_{n \rightarrow \infty} z(n) = l$.

We shall prove that $l = 0$. Assume that $l > 0$. Then for any $\varepsilon > 0$, we have $l + \varepsilon > z(n) > l$; choose

$0 < \varepsilon < \frac{l(1-p)}{p}$. From the definition of $z(n)$, we obtain

$$x(n) = z(n) - p(n)x^\alpha(n - \tau) > l - pz(n - \delta) > 1 - p(l + \varepsilon) = k(l + \varepsilon) > kz(n)$$

Where $k = \frac{l - p(l + \varepsilon)}{(l + \varepsilon)} > 0$

From (1),

$$\Delta[a(n)\Delta[b(n)\Delta z(n)]] = -q(n)x(n - \delta) \leq -kq(n)z(n - \delta)$$

Summing from n to ∞ , we get

$$\sum_{m=n}^{\infty} \Delta[a(m)\Delta[b(m)\Delta z(m)]] \leq -k \sum_{m=n}^{\infty} q(m)z(m - \delta)$$

$$\frac{kl}{a(n)} \sum_{m=n}^{\infty} q(m) \leq \Delta[b(n)\Delta z(n)]$$

Summing again from n_1 to ∞ , we get

$$\sum_{i=n_1}^{\infty} \left[\frac{kl}{a(i)} \sum_{m=i}^{\infty} q(m) \right] \leq \sum_{i=n_1}^{\infty} \Delta[b(i)\Delta z(i)]$$

$$\frac{kl}{b(n_1)} \sum_{i=n_1}^{\infty} \frac{1}{a(i)} \sum_{m=i}^{\infty} q(m) \leq -\Delta z(n_1)$$

Again taking summing from n_0 to ∞

$$kl \left[\sum_{j=n_0}^{\infty} \frac{1}{b(j)} \sum_{i=j}^{\infty} \frac{1}{a(i)} \sum_{m=i}^{\infty} q(m) \right] \leq -\sum_{j=n_0}^{\infty} \Delta z(j)$$

$$\sum_{j=n_0}^{\infty} \frac{1}{b(j)} \sum_{i=j}^{\infty} \frac{1}{a(i)} \sum_{m=i}^{\infty} q(m) \leq \frac{z(n_0)}{kl}$$

Which is a contradiction to (8). Hence we get the required result.

Theorem 2.3. Assume $(C_1) - (C_4)$ and (A) holds, $0 \leq p(n) \leq p_1 \leq 1$. If there exists a positive function ψ , such that for all sufficiently large $n_2 > n_1 \geq n_0$, we have

$$\limsup_{n \rightarrow \infty} \sum_{m=n_2}^{n-1} \left[q(m)\psi(m)p_*(m) \sum_{i=n_1}^{m-\delta-1} \frac{1}{b(i)} - \frac{1}{4a(m)\psi(m)} \right] = \infty \tag{9}$$

Where $p_*(n) = 1 - \frac{p(n)}{M^{1-\alpha}}$ and $\psi(n) = \sum_{m=n}^{\infty} \frac{1}{a(m)}$ hold for all constants $M > 0$, then any solution $x(n)$ of (1) is oscillatory.

Proof. Suppose $x(n)$ is positive solution of (1). By condition (B), there exists a possible case such that $z(n) > 0, \Delta z(n) > 0, \Delta[b(n)\Delta z(n)] < 0, \Delta[a(n)\Delta[b(n)\Delta z(n)]] < 0$.

Hence $a(n)\Delta[b(n)\Delta z(n)]$ is non increasing,

$$a(m)\Delta[b(m)\Delta z(m)] \leq a(n)\Delta[b(n)\Delta z(n)], \quad m > n \geq n_1$$

Both side dividing $a(m)$ and summing from n to $l - 1$, we get

$$\sum_{m=n}^{l-1} \Delta[b(m)\Delta z(m)] \leq a(n)\Delta[b(n)\Delta z(n)] \sum_{m=n}^{l-1} \frac{1}{a(m)}$$

$$b(l)\Delta z(l) \leq b(n)\Delta z(n) + a(n)\Delta[b(n)\Delta z(n)] \sum_{m=n}^{l-1} \frac{1}{a(m)}$$

Letting $l \rightarrow \infty$

$$\lim_{l \rightarrow \infty} b(l)\Delta z(l) \leq b(n)\Delta z(n) + a(n)\Delta[b(n)\Delta z(n)] \lim_{l \rightarrow \infty} \sum_{m=n}^{l-1} \frac{1}{a(m)}$$

$$0 \leq b(n)\Delta z(n) + a(n)\Delta[b(n)\Delta z(n)] \sum_{m=n}^{\infty} \frac{1}{a(m)}$$

$$-\frac{a(n)\Delta[b(n)\Delta z(n)] \sum_{m=n}^{\infty} \frac{1}{a(m)}}{b(n)\Delta z(n)} \leq 1$$

Now define $\phi(n)$ as follows,

$$\phi(n) = \frac{a(n)\Delta[b(n)\Delta z(n)]}{b(n)\Delta z(n)}, n \geq n_1 \tag{10}$$

Notice that $\phi(n) < 0$ for $n \geq n_1$, Thus

$$-\phi(n) \sum_{m=n}^{\infty} \frac{1}{a(m)} \leq 1$$

$$-\phi(n)\psi(n) \leq 1 \text{ where } \psi(n) = \sum_{m=n}^{\infty} \frac{1}{a(m)}$$

From (10), we get

$$\Delta\phi(n) = \Delta \left[\frac{a(n)\Delta[b(n)\Delta z(n)]}{b(n)\Delta z(n)} \right]$$

$$= \frac{[b(n)\Delta z(n)]\Delta[a(n)\Delta[b(n)\Delta z(n)]]}{[b(n)\Delta z(n)][b(n+1)\Delta z(n+1)]} - \frac{a(n)\Delta[b(n)\Delta z(n)]\Delta[b(n)\Delta z(n)]}{[b(n)\Delta z(n)][b(n+1)\Delta z(n+1)]}$$

$$= \frac{\Delta[a(n)\Delta[b(n)\Delta z(n)]]}{b(n+1)\Delta z(n+1)} - \frac{a(n)\Delta^2[b(n)\Delta z(n)]}{[b(n)\Delta z(n)][b(n+1)\Delta z(n+1)]}$$

$$= \frac{-q(n)x(n-\delta)}{b(n)\Delta z(n)} - \frac{a(n)\Delta^2[b(n)\Delta z(n)]}{[b(n)\Delta z(n)]^2}$$

$$= \frac{-q(n)x(n-\delta)}{b(n)\Delta z(n)} - \frac{\phi^2(n)}{a(n)}$$

In view of case;

$$z(n) \geq b(n) \sum_{m=n_1}^{n-1} \frac{1}{b(m)} \Delta z(n)$$

$$\frac{z(n)}{b(n)\Delta z(n)} \geq \sum_{m=n_1}^{n-1} \frac{1}{b(m)} \tag{11}$$

Hence, $\Delta \left[\frac{z(n)}{\sum_{m=n_1}^{n-1} \frac{1}{b(m)}} \right] \leq 0$, which implies that $\frac{z(n-\delta)}{z(n)} \geq \frac{\sum_{m=n_1}^{n-\delta-1} \frac{1}{b(m)}}{\sum_{m=n_1}^{n-1} \frac{1}{b(m)}}$. Now apply (3) and (11) to $\Delta\phi(n)$, we have

$$\Delta\phi(n) \leq \frac{-q(n)p_*(n)z(n-\delta)}{b(n)\Delta z(n)} - \frac{\phi^2(n)}{a(n)}$$

$$\leq -q(n)p_*(n) \sum_{m=n_1}^{n-\delta-1} \frac{1}{b(m)} - \frac{\phi^2(n)}{a(n)}$$

Thus multiplying by $\psi(n)$ and summing it from $n_2 (> n_1)$ to $n-1$

$$\sum_{m=n_2}^{n-1} \Delta \phi(m) \psi(m) \leq - \sum_{m=n_2}^{n-1} \left[q(m) p_*(m) \psi(m) \sum_{i=n_1}^{m-\delta-1} \frac{1}{b(i)} + \sum_{m=n_2}^{n-1} \left[\frac{\phi^2(m)}{a(m)} \psi(m) + \frac{\phi(m)}{a(m)} \right] \right]$$

$$\sum_{m=n_2}^{n-1} q(m) p_*(m) \psi(m) \sum_{i=n_1}^{m-\delta-1} \frac{1}{b(i)} + \sum_{m=n_2}^{n-1} \left[\frac{\phi^2(m)}{a(m)} \psi(m) + \frac{\phi(m)}{a(m)} \right] \leq -\phi(n) \psi(n) + \phi(n_2) \psi(n_2)$$

Since $-\phi(n) \psi(n) \leq 1$

$$\sum_{m=n_2}^{n-1} q(m) p_*(m) \psi(m) \sum_{i=n_1}^{m-\delta-1} \frac{1}{b(i)} + \sum_{m=n_2}^{n-1} \left[\frac{\sqrt{\psi(m)}}{\sqrt{a(m)}} \phi(m) - \frac{1}{2\sqrt{a(m)\psi(m)}} \right]^2 - \sum_{m=n_2}^{n-1} \frac{1}{4a(m)\psi(m)} \leq 1 + \phi(n_2) \psi(n_2)$$

$$\sum_{m=n_2}^{n-1} \left[q(m) p_*(m) \psi(m) \sum_{i=n_1}^{m-\delta-1} \frac{1}{b(i)} - \frac{1}{4a(m)\psi(m)} \right] \leq 1 + \phi(n_2) \psi(n_2)$$

Letting $n \rightarrow \infty$

$$\limsup_{n \rightarrow \infty} \sum_{m=n_2}^{n-1} \left[q(m) p_*(m) \psi(m) \sum_{i=n_1}^{m-\delta-1} \frac{1}{b(i)} - \frac{1}{4a(m)\psi(m)} \right] \leq 1 + \phi(n_2) \psi(n_2)$$

Which contradicts (9) and the proof is complete.

REFERENCES

- [1] R.P.Agarwal, S.R.Grace and D.O.Regan, On the oscillation of certain third order difference equations, Adv. Differ. Equ., 3(2005), 345-367.
- [2] G.E. Chatzarakis a, M. Lafci b, I.P. Stavroulakis, oscillation results for difference equation with several oscillating coefficients, Applied Mathematics and Computation 251 (2015) 8191.
- [3] A.George Maria Selvam, M.Paul Loganathan, K.R.Rajkumar, Oscillatory Properties of Third Order Neutral Delay Difference Equations, International Journal of Mathematics And its Applications, Volume 3, Issue 4-A (2015), 9-13.ISSN; 2347-1557.
- [4] A.George Maria Selvam, M.Paul Loganathan, K.R.Rajkumar, Oscillation of Third-Order Neutral Difference Equations, International Journal of Mathematics and Computer Research, 3(7)(2015). 1071-1080.
- [5] A.George Maria Selvam, M.Paul Loganathan, K.R.Rajkumar, Some Oscillation Properties of Third Order Linear Neutral Delay Difference Equations, International Journal of Computational Engineering Research, 5(7)(2015).
- [6] MINGMEI SU AND ZHITING XU, OSCILLATION CRITERIA OF CERTAIN THIRD ORDER NEUTRAL DIFFERENTIAL EQUATIONS, Differential Equations and Applications, Volume 4, Number 2 (2012), 221232.
- [7] Saber Elaydi, Discrete Chaos, Second Edition, Chapman & Hall/CRC, 2008.